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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

Rt were faTa Tad ford -

(a) ““The world is the totality of facts, not of
" things.” Who is- associated with. the

statement?

“Erygere ©YR e, /9 =17 xﬂi%f‘—cﬁﬁ
aﬂ—ﬁﬁrﬁrﬁﬁmmv :
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(b) Among the following philosophers, who is
the author of the book, Principia Ethica?

e weed o989 Principia Ethica
AN AR o9 (I 2
(i) Gilbert Ryle

IRERIE ET

(ii) G.E.Moore
&2 @

(iii} Wittgenstein

(iv) A.]. Ayer
9. (8. S|

* ( Choose the correct alternative )

( o= RFwo! S Bfevean )

(c) According to Russell, a fact is either truc- or
false. Is it true?

. A5 TS, 51 O Ty NS {RJT SN | %h]
HO5CA ? AT @i
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(d)

(e)

(f)

20A/245

(3)

Who among the following was a member of
both Cambridge and Oxford philosopher?

e wher Soe @rEm T

RS SF SRS TS TR T e ?

(i) G.E.Moore
&2 [

(ii) Bertrand Russell
Gie oA

(iii) Ludwig Wittgenstein
L CRA TR ESHED

( Choose the correct alternative )

( % fReweo! M Sferea )

Who is the father of Logical positivism?

SR O TS (I 7

Ryle refutes = the dualism of
Plato/Descartes/Spinoza. -

( Choose the correct alternative )

RiEvC B (0 DAk a1 o) diaaic 1S MR ICE L S AT

FfRfRET | ( = o1 A Sferear )
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(4)

(g) Analytic philosophers generally believed
that philosophical problems arise out of our
failure to use properly.

(Fillinthe gap)
Rommm wwiemeE simRas e skt
@ mRF TrNE e W afen Wi

¥ TSI IR IR I 2 |
(1 572 o 1)
2. Answer briefly the following questions : 2x4=8
©eTe fr eneares o Tes o

(a) Write two differences between atomic and
molecular proposition. -

AIRE IF WMRF ™ TTS = @
o1 it |

{(b) What does Ryle mean by ‘Cartesian model’?
A ORI Feed” oA F Ieizm 2

(c) Whatis atomic fact according to Russell? .
A WS AT 5 F 2 |

(d) What do you mean by ‘Family
Resemblance’?

‘onfaRifae s’ e & e 2
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3. Answer any three of the following questions :
5x3=15

oo fal ereza R e fefeivim Tee for

(a) Explain briefly Wlttgcnslems view on
private language.

fers o1 Fod TReoRABTE 1O F, BT
[T I

(b) Discuss briefly the kinds of facts recognized
by Russell in his logical atomism.
e T PRAGETS w9 m & <,
BT WA 91 |

(c) What is ‘official doctrine” according to
Ryle? Discuss.

R No ey O Tl 2 SeEAn 70

(d) State some examples put forward by
Wittgenstein to explain the concept of
~ language game.

w CdF QEOMCOT W A9 IR
THpesEARR eRewE g T veay
4| '

20A /245 { Turn Over)



(6)

(e) How did Moore distinguish between .
sensation and the object of sensation?

A AE IS TFE oS T (@
Nl 3o FfRe 2

(f) Is philosophy linguistic analysis? Discuss.
I SRR e ZHe 2 S 947 |

4. Answer any three of the following questions :
10x3=30
oo fiR enTpRd R oo fefbr e forar

(a) What do you mean by logical atomism?
Explain and examine Russell’s view.

O AP Ifercet & IO 7 R (FIS Ao
HiSTS A SE RKolT 744 |

(b) 'Who are the principal exponents of analytic
movement? Bring out the salient features of
the analytic trend in western philosophy.

- Remr@ seere oy @O G @H?
SfPore) e s RE AREER o |

(c) How does Moore attack the proposition
‘Esse est percipi’? Does he thereby refute
idealism? ' '

TE @CTME g ermed’ 600 AT
R ? TR T[T (9F SRAM IG7 FRCEAH 2
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(7)

(d) What is Cartesian dualism? Give a critical
account of Ryle’s refutation of Cartesian

dualism.
LRI (Foam IR Q@A 7 TR IO
twem e Re@ g3 foRpe

HISCLHT |

(e) ‘“‘A proposition is a picture of reality.”
Explain after Wittgenstein.
“gb1 359 2 el g 1”7 BWoERA Yo
A 40

(f) Explain and examine the language gamc
theory of Wittgenstein. _ _
TAWRABTR SER O TRMCO! I =
{1 391 |

* & *
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